oo

HAOOF A I AR FERE

AN

506 (20244) FE2H28H

AOANDOMEREEIZDLNT

1 BBRE (BBATZERO)HEHREONDIERELR
BB ETOHEZRE 28 22HDOFEEE(A) = &
328,997 10 329.007
2 BRBIEIR. EMEFIZEIT AHREHR(A—T T 2B 450
BIBETORE 2H22H DOFERE£0(B) =1 E
332,877 16 332,893
O FHEAOF VAL ABREEMREB O LARTE (28 228)
AR S
minz (R {2 R s |mam| = | a3t
won | g | wee | g | mER | e | e | o | kg | AS | x=
1 FE 7 1 0 0 0 0 0 0 0 0 0 8 12 12 20
2 FEH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
+q 3 EERERE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
&l 4 THHETHT 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
5 ZDih 2 0 0 0 0 0 0 0 0 0 0 2 0 0 2
it 9 1 0 0 0 0 0 0 0 0 0 A 10 12 12 22
1 ADhDSHMERESTEICHET
e mmEmmmsmyons | 9 °) 9 9 9 9 ° 9 9 9 ° ¢ ' > 10
pﬁz 15 QMm% B, BRE sl 1l o o o o o o o o o a4 2 2 s
@
&t 9 1 0 0 0 0 0 0 0 0 0 10 12 12 22




